“IPHE

—_

K 31 AR A FERABRIE (R HAE)

fits Lo EHIHA

(RIS | O H 5 £ CRIEZ RTIER S50,

I 1 1t K ORERK A D D 5, MEMIZ 1T OO EEL THiHT
52k,

g (1] »s ETAMD B, KD XFTE DA DA
)\—;—5\_—&0

fREMOEE 25 HE1%, & OME2HEMOMAY VRO NIZEHAT S
Ze,

fRE LI WD H 2 5ETH, MEMAN IR T2RET S I &,

MM 3R me Z &,



SHOESH 1 OEMTIKOABC IZHBWT, OA = ¢, OB= 0, 0C = ¢

Y$B, £72, WOA, OB%t:(1—1) AT BEEZNZNP, QL L,
UBC, AC%s:(1—5) CHATBHMEZNERL, MET 5, =1L, s
Ctlk, TNETN0<s<1BLT0<t<1Z2AZTEHRETE, ZDL
&, MOMIZEA L,

(1) PQ, OL, OM % 4, b, ¢, s ¢ ZFNTEY,

(2) \Eff % s, t HWTHEYE,

(3) [PLEOBMEL 2D Y 2D s, t DffikRDE, & 51T, Z0& Emufy
¥ PQLM BEA L 725 2 & &R,



alz]-’ a/2:].3, j:_)\cl:(){‘
Upio = Apyq +6a, (n=1,2,3, --+)
T E B FABOBI {a,} 1KOVT, ROMIZHR &

(1) FAX
nis — Wy = Blans1 — aay)
hHTTHOM (o, ) & 2 Ok &,
(2) #5 {a,} D—MIHZ KD X,
(3) TRTOHAREn T/ LT, as, ik a, TEHOYNDS Z & ERE,



ERERBETE0TRVERX f(2), g(x) 1T LT,
F(x) = (f(z) + 9())” + (f(z) — g(x))’
EEL, TDLE, MOMIZEZ L,

(1) F(z) 13 f(z) TEIDEIND T & & R4,

(2) EBa Iz LT, F2) i (z—a)’ TEOYN, (z—a)® TIXE DN
BWEeTE, ZOLE, fr) X (z— ) THLYNEZ & ERYE,



By — |02 — 1| DI 572 Ced 5, t9 — <t<1%B7ETLE,

4
MO Dt < x <2 %ATED, oW, 2EMMzs =¢t, v =2t THENZK
FomEMEZ S(t) &35, 2oL &E, ROMIZE

—_

> DEE, St) %t zHNTEYE,

<t<10EE, Si) %t 2HOTHRY,

[ SES1OZE, S ORKMERNMIE KDk, &7, TOLE
Dt Oz TNENKD &,



	空白ページ
	空白ページ
	空白ページ
	空白ページ
	空白ページ
	空白ページ

